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S8 Ui 5B B R 15

RFXEOLEHXFAY F— R " /) 32 # (Listening Comprehen-
slon) R A A M 2R L ERRLGRNP— RSB ERERT.
AXFSEEREAEN B LD —FFANEEXFNEI 2X Lot E
B MAHITEFE, BRI ATIRA NG, R R S AL
MR NEETTHEGIFY,

U ) A4S A,B,C =44 (section A,section B,section C), 2 20 i,
&KX A 20 5-4F, A 964 2 5 48 %+ 4% (Short Conversations) , #4414 — %
—ki &, EBEA—ME, BES)—RABEFIMHH, EEEH 2~3
WA, A A AP BEAF 15 HR, 5 iERAENHF
#9120 79, Ra — & . C ¥4 & B3 ¥ (Spot Dictation) , XK _LéyLH &
10, BRBEF G T d) T4 —34, FK&i&kF) section B, K& 3 2
%, X

/5%—"—51—7# %ﬁlﬁﬁﬁA,B,C%MJ\Q"JHﬁEﬂWZﬁ,
RAE B R AT

— JHEAR R 10 FUR[EF = (Section A)

(—) (a0} &) St 2
R X TE E R R XHELE BT AT 4L & A RIR B ATEMTAL . ET4L . = E 53 ATH A
XHEHEITRE . AT HIHRE R : When, How long, How much time,How many -+ 227 , what
time-+? F1 where---? 11,
[#] 11 M:Mary, after I finish my homework at school, I'm going to the library.
W: Ok, I’m just going to stay home.
Third voice: Where is the man now?
IR A : A)At home. B)At school. C)At Mary’s home. D)In the library.
[f1 21 W: When will your girl friend be leaving for New York?
M :I'm not quite sure. She told me yesterday that she would leave on Monday, but she
told me this morning that she would leave on Wednesday.
Third voice: When will the man’s girl friend leave for New York?
&35 % : A)Either on Wednesday or on Monday. C)On Monday.
B)On Wednesday. D)Either on Wednesday or on Tuesday.,
— 1 —



gt 70 R WF R BT, BR AR — F IO R85O, FRAammE sl 1 B AL fl 2 pioed it
(6. SRS G U, T I 15 55 0 4607 J5 26 , 1 SR BRI FE B A5 P 48R, A H R R OF » REALEY
BB L EENB.H 2 H A,

(OREFEA Z BB R VR 55 B EH#

AT AG4R 1 % i . What, Who, Whom is++? To whom is++? F¥k. M-

[#] 1] M.Could you please tell me at which stop I should get off for the Metropolitan Museum?
Also, how much is the fare?
W .Of course. You get off at 82nd street and walk one block. Tl tell you when you get
there. The fare is fifty cents. Just put it in the fare box.
Third voice. What is the probable relationship between these two people?
I A : A)Customer and merchant. C)Passenger and conductor.
B)Daughter and father. D)Doctor and patient.
[#1 2] W .Robert worked as a secretary for three years. Then he became a newspaperman, and
after that he started wr,iting novels.
M ;I know. And he has been doing nothing else ever since.
Third voice; What is the Robert’s occupation now?
#IH A : A)He is a novelist. C)He is a secretary.
B)He is a newspaperman. D)He is a businessman.
[#1 3] M :Harris? This is Frank Gillespie.
1’ll take a message for your husband if you like me to.
W :No,thank vou. I’ll tell him myself at home tonight.
Third voice; To whom was the woman talking?
#3 #1 : A)The husband’s secretary. C)A friend.
B)Mr. Gillespie. D)Her husband.
[%] 43 M ; Although Jane is British,she has lived and worked in the Far East for most of her life.
W : No wonder she speaks Japanese, Chinese, and Burmese so well.
Third voice; What’s Jane’s nationality ?
YEIT °5 . A)Pritish. B)Burmese. C)Chinese. D)Japanese.

SRR RTE — B 1B . 22 A XTE S AR I AF BE . ] 1 BRI stopree s
get off. 2B get off ate-streete-, fi BT KM C FIEH . B 2 ZHIH after that---writing nov-
els F1 5 {1} -has been doing nothing ever since ¥|¥f A RIE# W 4 3 BB R AZBIX R
By ATFR AT, W A B KT, T B RIEM. #i 4 M although iX1 3¢ 4217 , B Bl AT
BEENA, BHREHERZHEEITAARX.

(SHHE.EE. &% . FRAEANITH
[# 1] M. How much are the tickets?

W . They are ten dollors each for the general public, but student tickets are half price.
Third voice; How much wvill the man pay for two student tickets?
1k 171 . A) The man will pay ten dollars.
B)The man will pav five dollars.
C)The man will pay thirty dollars.
— 9 —



D)The man will pay forty dollars.
[ 2) W: Tom must be over 20 now.
M: Yes, when Tom left New York ten years ago, he was already 16.
Third voice: How old is Tom now?
TEFEIF . A)Sixteen. B)Twenty-six. C)Twenty. D) Thirty-six.

I ET LA, 5 AR B30 T A S 3057, A48 170 ) » 7 A B R 1 (] SR Y Ao
ebx BNTS L EWARE 10 A, 6] 25 B,

(B BRI RCR 25 1 RFIFE

XERE A E BRI EWRE, B B B — B AR, RAE R what,
what kind of B which++? 1.

L% 13 W: My grades are higher than Susan’s and lower than Sidney’s.
M: And mine are higher than Sidney’s.
Third voice: Whose grades are the lowest?
HPEIN . A)Susan’s. B)Sidney’s. C)The man’s. D) The woman’s.
[ 2] M : Mike’s brother said Mike had been waiting in Shanghai for two weeks and still hasn’t
gotten his tickets for America.
W . That’s strange. I thought he had planned to go to Beijing to purchase them himself.
Third voice; What news did the woman hear from the man?
PFEIH . A)Mike’s brother is waiting in Shanghai for his tickets.
B)Mike had been in Shanghai for two weeks waiting for his tickets.
C)Mike went to Beijing to buy tickets to America.
D)Mike will have to go to Beijing to get his tickets.
[ 3] M: I was hoping that you’d wear your new dress. It’s much prettier.
W . But this one is more comfortable for hot weather.
Third voice; Which dress will the woman wear?
% FE1 : A)The new one. C)The prettier one.
B) The more comfortable one. D) The one that the man likes.

M1 B VLA IR E X E A A ST R B B AP A Susan # Sidney, {ERITH
higher than - lower than - f]3c 827 A1 Ak tH EHREEHN A, KH2 #2427 Mike had
been waiting -+ two weeks - still hasn’t gotten - ¥|§F#ETH B H1E# . %] 3 A hoping -+ wear

-+ new dress M2z #4354 But - #3% B HEHEE. BN but B HEFHFTEENAT,.ER
FEEETE but XEEREEITIAETE . % 4 N RA) 5 BT 1 o B B R EEAT AL 25 » 2 although, even
so,even though, in spite of, unless, but, no, never, not, neither+--nor &, s R4y
B, ARSI ERE AN EES CHREAMERNSERE LR R
% B EERTE. ,

(BB EATHFN . BEREEFERHEEH .

XRERIHE, H RREREANEAT R R NS, XERmE R F. SRENTH
MRS R E R, FEER:

How does/will/did the man/woman spend/work -2

How does/did the man/woman feel?



Why does/will/did the man/woman want/think/say? 2.
[ 11 M: It is such a fine day. Why don’t we climb the mountain?
W: Oh, I would love to,John, but I have been busy these days.
Third voice; How did the woman feel about John’s invitation?
FEFETR : A)She wouldn’t go because she was busy.
B)She wouldn’t go because she didn’t like him.
C)She would go though she was busy.
D)She would go because climbing the mountain might do her good.
[ 2] W. Did you see the football game on T.V last night? The last 5 minutes were really ex-
citing!
M: I know. I heard. But there was a power failure in my area and I missed the second
half of the game.
Third voice: Why couldn’t the man see the end of the game?
TEFETH . A)He didn’t have TV.
B)He didn’t want to watch the game.
C)The game wasn’t shown in his area.
D)There was no electricity in his area.
PL B B AN B A R E 1) but ST . B but FEM KNS, FHFIMTHEE
L6011 BEEHR AG2EFE M D,
GOREFENEN AERIES
XFR A A BRYT RS . BRI RRE B E BRSO R E AR S R E R
TR FREAREANEEES, A REREHEES X AREAMEIEL . HE. R
WA AT, B EIRMBE A R ERER, RAGETE.
What does/did the man/woman mean?
What does/did this conversation mean?
What does the man/woman imply/suggest/recommend?
What is the man’s/woman’s opinion/feeling about -+ 7
What is the man’s reaction/attitude to +=-?
I :M: I want to see the manager right row.
W . The manager is out, sir, but if you have a complaint, I’ Il assist you.
Third Voice: What is the woman’s attitude?
%+ . A) She is patient. C) She is indifferent.
B) She is hostile. D) She is helpful.
XEEMBAREREEE AT, FERHES. EL BES. RS REE -1
T, BHBEER. ZFEERHN D,
(BEORBBERRBHLER
XA IERAE B RENEREASR. FAMREARE.
What can/do we learn/know from the conversation?
What conclusion can we draw/do you make from the conversation?
What informantion did the man/the woman give the woman/the man?

_.4_.



What news did the man/woman/get/hear from the woman/man?

. W. Which colour would you choose?
M. .It makes no difference to me.
Third voice: What do we learn from the conversation?
#$EI : A) The man is not interested in colours.
B) The man doesn’t care which colour is chosen.
C) The man wants to choose his favourite colour.

D) The man likes the colour the woman chooses.

R BB R 2 A T AT IR 0K, T AR B I 000 o JE HE IR AT e B B R . KR

ERHAB.,
GOBRRIHEARR, BG4, Tt 4.5 5kt 4
BRERHFN IR, TR AR T A, R R LA SR AR AT ST IR . (R R I
B R
What is the man /woman talking about /discusing/complaining about?
What does / did the man / the woman tell++-?
What does / did / will the man / the woman buy / agree *»+?
4. W Would you mind if I visit your class this evening, Prof. Smith?
M: I have no objection to your visit. But the students will take their examination tonight.
Perhaps‘ you can come next Monday.
Third Voice; What did the professor tell the woman?
I . A) Not to visit his class.
B) The class objects to her visit.
C) To visit his class next Monday.
D) The students will have their examination next Monday.
WAR S 6 AL, UFIEUTESE A AMPHERE, e E ERHER C.
(FLRERESER
SHE FBERNARRIUER, BIAH R
What is the weather like?
What will the weather be like?
. M: Lovely day today, isn’t it?
W It certainly is!
Third voice; What is the weather like today?
BT . A) Tt is cold. B) It is hot. C) It is fine. D) It is warmer.
XEERY R B R RB MR RS — AL, WER A ARRE, R H EBER. X

BERNRMC.
(PR EEABTA BTFHA  HBNHFHTA
XENHER TRAE, EREEETHEA Y. RAaTE:
What does/will/can the man /woman do/plan to do ?

What does/did/ the man/the woman want/intend/prefer to do?
going to do--+?

What is / are/ the man / the woman / they
trying to do---?



:W: Pm here for my 9 o’clock appointment with Dr. Milton.
M: Why don’t you have a seat for a moment?
Third voice: What does the man want the woman to do?
FEEEIH . A) Come back at 9. C) Change the appointment,
B) Sit down and rest. D) Wait for a while.
WERERLEAY, BRNEIEANEES . ZEEERAD,

Z VSRR 4> (section B)

B RS SO LA 5 B RE—RAE TR E S, AR RATEEREZ, i, |
BEFZAS SO B ST EMEN . XERRBRK, EREFTLIERI R FEREH
SR —TEWL A H I IT 50 0 5 807 e i, ST IR CERE BT
SENE B AR, Blan.

In the past 20 years scientists have learned a great deal about sleep and dreams, They’ve dis-
covered, for example,sleep and dreams affect the way people feel. A good night’s sleep generally
makes the person happier in the morning. Dreams also have a strong effect on the moods of peo-
ple. However, who appears in the dream is more important than what happens. Every person
has a special dream character. If this special character appears in dreams, people would be happi-
er after sleep. When a person wakes up happy, the moods will affect his performance throughout
the day, The level of one’s moods rises and falls during the day. The less sleepy people are, the
better the way they perform and usually they are more friendly, more aggressive and more clear
thinking.

Some day scientists hope to be able to control sleep in order to control the way people feel

and perform.

Questions 1 to 3 are based on the passage you have just heard
1. How many years have scientists learned a great deal about sleep and dreams?

A) 12. B) 20. C) 10. D) Not mentioned.
2. What have scientists discovered about sleep and dreams?

A) Dreams and sleep affect people’s health.

B) Every person has different dream characters.

C) Sleep and dreams affect the way people live and work.

D) People need sufficient dreams to make them feel well.
3. What kind of people tend to perform better during the day?

A) Less sleepy people. L) Friendly people,

B) Sleepy people. D) Aggressive people.

ARFMZI=AEEH R, RFTUKRRTREAA 1 —ERERHF. WHER ELH
HEEHIC T ATUTEI I 4XF . [614) 2 BP9 28N ER A dream iX~iA] , B B 5 3¢ 22 0 (/) 47 — & 53X
TRAXR. [E) 3 EHEH people XA, FUARMNTATHEM EA X EERIDR— AR5
R-AZDANSM BB NN BRMES ANERE., TRTXS, ERFEXEAE. 58—
— 5 —



TR, TERXENEE. MES—F, LSS, BT ETEREFL. B
BRI X BB T MM EE I 1 H B2 9 CL3 K A,

= . I 5iF = #R 4 (Section C)

BIABL YT ) FE ARS8 = #04 (Section CHRITB S, X% LA H —H K4 200 HEANA
M AXPEHHAE, BN EREAN M FRDFH—RS . SXUKREHBEHFRRA
TR . SR — R I AR B, e TS SO B RS RS A S, ER A&
TEUFEH) AN 4 58 = 3R R 45 — 3 — B A 4201, o AR M R L SC BRI LR BRI B
4 Section B (A AR B % 20 3B S MR AL 7 . B ER T L H 2E0BH,
%G LG, TR AT H A M 23, 5 — B WA X E RS R R
HE; B =g, TR X R RUERSEN S A EE AT ESATHNEERS
il

ATIRFNVRF R T BH R, KBNS W RARNE 1995 4F 6 A K2 ENLEE
R F B B A B C 343 (Section C),

FoW 1995 4F 6 A CETA AT RAMENE RENET

—.1995 5 6 A KFFKIENRFT HEEN B

Section C Spot  Dictation

Directions : In this section, you will hear a passage of about 120 words three times. The passage is
printed on your Answer Sheet with about 50 words missing. First, you will hear the
whole passage from the beginning to the end just to get a general idea of it. Then, in
the second reading, you will hear a signal indicating the beginning of a pause after
each sentence, sometimes two sentences or just part of a sentence. During the pause.,
you must write down the missing words you have just heard in the corresponding space
on the Answer Sheet. There is also a dif ferent signal indicating the end of the pause.
When you hear this signal, you must get ready for what comes next from the record-
ing. You can check what you have written when the passage is read to you once again

without the pauses.

In the United States, people appear to be constantly on the move. 1)

How often 2) moving vans on the road? 3) . Are so many peo-
ple actually 4) ? Yes, people in the United States are indeed on the

move. 5) » about one third of the population 6)

Every person who moves 7) for making such a deci-

sion. Some people may decide to move 8) . Some may wish

9) . And some have many other reasons. 10)

_ 7 —




, the amount of movement in this country is substantial.

WERATHEER

In the United States, people appear to be constantly on the move. Think for a moment.

How often do you see moving vans on the road? They seem to be everywhere. Are so many peo-

ple actually changing their addresses? Yes , people in the United States are indeed on the move.

Within any five-year period, about one third of the population change their place of residence.

Every person who moves has his or her own personal reasons for making such a decision.

Some people may decide to move because of employment opportunities. Some may wish to live in

a warmer or a colder climate. And some have many other reasons. Regardless of the specific

causes, the amount of movement in this country is substantial.

— BN
Model Test One

Listening Comprehension (20 minutes)

Section A

Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. The conversation and the question will be
spoken only once. After each question there will be a pause. During the pause, you
must read the four choices marked A), B), C) and D), and decide which is the best
answer. Then mark the corresponding letter on the Answer Sheet with a single line

through the centre.

Example; You will hear:
You will read;
A) At the office. C) At the airport,.
B) In the‘waiting room. D) In a restaurant.
Sample Answer [A] [B] [cl D]
From the conversation we know that the two were talking about some work they have to finish
in the evening. This is most likely to have taken place at the of fice. Therefore, A) ‘At the of fice’
is the best answer. You should choose answer A on the Answer Sheet and mark it with a single line

through the centre.

1. A) The man wants to go to Los Angeles.
B) The man wants to go to San Francisco.

__..8__



C) There are no flights to Los Angeles for the rest of the day.
D) There are two direct flights to Los Angeles within the next two hours.
2. A) He enjoys writing home every week.
B) He never fails to write a weekly letter home.
C) He doesn’t write home once a week now.
D) He has been asked to write home every week.
3. A) Because she has got an appointment.
B) Because she doesn’t want to.
C) Because she has to work.
D) Because she wants to eat in a new restaurant.
4. A) The teacher postponed the meeting.
B) There won’t be a test this afterncon.
C) The students will be attending the meeting.
D) The students will take an English test this afternoon.
5. A) On the whole, she liked the film.
B) She didn’t see the film.
C) The film was very exciting.

D) The film wasn’t as good as she’d expected.

6. A) Around 5:00. C) Around 3:00.
B) At 2:00. D) At 1:00.

7. A) He had to work overtime. C) He was held up in traffic.
B) His car ran out of gas. D) He had a traffic accident.

8. A) John Smith isn’ in right now.
B) John Smith can’t come to the phone right now.
C) John Smith doesn’t want to speak to the caller.
D) The caller dialed the wrong number.

9. A) Yesterday. C) Three days ago.
B) Two days ago. D) Early last week.
10. A) She got up later than usual. C) The bus was late.
B) She forgot she had classes. D) Her clock was slow.

Section B

a Directions: In this section, you will hear 2 short passages. At the end o f each passage, you will
hear some questions, Both the passages and the questions will be spoken only once. Af-
ter you hear a question, you must choose the best answer from the four choices marked
A), B), C) and D). Then mark the corresponding letter on the Answer Sheet with a
single line through the centre.

Passage One

@ Questions 11 to 13 are based on the passage you have just heard



11.

12.

13.

A) 4000 years ago. C) 2000 years ago.
B) 3000 years ago. D) 1000 years ago.
A) The small bowl was put above the large bowl.

B) The large bowl was put above the small bowl.

C) The small bowl was put inside the large bowl.

D) The large bowl consisted of two equal parts.

A) Horsemen. C) Brass doors.
B) Drops of water. D) Metal balls.

Passage Two

@ OQuestions 14 to 16 are based on the passage you have just heard :

14.

15.

16.

’

A) They are most attractive women in Britain.

B) They are the most popular film stars.

C) They are the first women news announcers on British television.

D) They appear almost every night in TV plays.

A) At 10 in the evening. C) At 9 in the evening.
B) At 9 in the morning. D) At 10 in the morning.
A) People still talk a lot about it.

B) Fewer people watched Susan’s programme from then on.

C) Anna’s photographs appeared frequently in newspapers.

D) The number of viewers of her programme that day increased by millions.

Section C

Directions: In this section, you will hear a passage of about 120 words three times. The passage is

printed on your Answer Sheet with about 50 words missing. First, you will hear the

whole passage from the beginning to the end just to get a general idea of it. Then, in

the second reading s you will hear a signal indicating the beginning of a pause after

each sentence, sometimes two sentences or just part of a sentence. During the pause,

you must write down the missing words you have just heard in the corresponding space

on the Answer Sheet. There is also a dif ferent signal indicating the end of the pause.

When you hear this signal , you must get ready for what comes next from the record-

ing. You can check what you have written when the passage is read to you once again

without the pauses.

New England is an area of mountains, valleys and rivers. 1)

farming lands. Yet New England is 3)

. A large part of New England is also 2)

farms and

. The farms are small. 4)

. It also happens that 5)

. This soil has been worked and planted 6)

it lost its value. Most New Englanders today work in factories 7)

. In




these factories they make watches and clocks, shoes, clothing, 8)

leather goods, etc. New England workmen are 9)

these things. This skill is often 10)

¥

in making any of

Model Test Two

Listening Comprehension

Section A

(20 minutes)

Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a

question will be asked about what was said. Both the conversation and question will be

spoken only once. After each question there will be a pause. During the pause, you
must read the four choices maked A), B), C) and D), and decide which is the best

answer. Then mark the corresponding letter on the Answer Sheet with a single line

through the centre.

1. A) At a post office.
B) At an airport.
2. A) In a fortnight.
B) In two days.
3. A) 7:40. B) 8.20.
4. A) Get medical advice.
B) Find a better doctor.
5. A) Salesman and customer.
B) Teacher and student.
6. A) Her key is found.
B) She has lost her bag.

C) At a library.

D) In a bus.

C) In a month.

D) In three weeks.

C) 7.20. D) 8:40.
C) Become a doctor.

D) Calm down a little,
€) Landlady and lodger.
D) Secretary and boss.

C) She can’t open her drawer.

D) She has not any paper.

7. A) She thinks the man’s idea is splendid.
B) She does not believe what the man said.
C) She liked the beach but she can’t go there.

D) She enjoys taking vocations from thinking.

8. A) A policeman.
B) A army officer.
9. A) Cold.
B) Colder than ever.
10. A) He had an earlier engagement.

B) He was too busy at the moment.

C) A soldier.

D) A passer-by.

C) Warm,

D) He doesn*t know.

C) He didn’t enjoy going out very much.

D) He had something to prepare for.



Section B

Dirctions; In this section, you will hear 2 short passages. At the end of each passage, you will
hear some questions. Both the passages and the questions will be spoken only once. After
you hear a question, you must choose the best answer from the four choices, marked
A)s B)s C) and D). Then mark the corrsponding letter on the Answer Sheet with a
single line through the centre.

Passage One

@ Questions 11 to 13 are based on the passage you have just heard .

11. A) New York. ) C) San Francisco.
B) Florida. D) Chicago.

12. A) Winter clothes. C) Summer clothes.
B) Spring clothes. D) Sports suits.

13. A) Because he left the plane tickets on the piano.
B) Because he wanted to play the piano during their vacation.
C) Because he liked his piano.

D) Because his wife wanted to bring the piano.
Passage Two

@ Questions 14 to 16 are based on the passage you have just heard .

14. A) In US boys and girls start school at 5.
B) In US boys and girls leave secondary school at the same age.
C) In US boys and girls may stay in school until 17.
D) In US school age limit differs in different states.

15. A) They pay for their children’s education instead of paying any tax.
B) They pay for their children’s education though they have paid tax.
C) They ask the government to help.
D) They ask the community to help.

16. A) Because he wants more money.
B) Because he is not born of rich parents.
C) Because his parents are unwilling to pay for his college expenses.
D) Because he is asked to do so.

Section C

Directions: In this section, you will hear a passage of about 120 words three times. The passage s
printed on your Answer Sheet with about 50 words missing. First, you will hear the
whole passage from the beginning to the end just to get a general idea of it. Then, in
the second reading, you will hear a signal indicating the beginning of a pause after
each sentence, sometimes two sentences or just part of a sentence. During the pause,



